

(A wholly-owned member of the Hong Kong Exchanges and Clearing Limited Group)

23 March 2018 Our Ref: MDD/18/929

By Email

To: Derivatives Market Data Vendors, End Users and Application Service Providers (Collectively "Clients"); and Independent Software Vendors (ISVs)

Dear Sirs,

Changes in Contract Multipliers of Ten Stock Futures Contracts

Please be informed that the contract multipliers of the following ten stock futures contracts will be changed in two batches as follows:

Batch 1 - Effective from 10 April 2018 (Tuesday)

			Original		New	
SEHK Code	Underlying Stock Name	HKATS Code	Contract Multiplier (Shares)	Number of Board Lots	Contract Multiplier (Shares)	Number of Board Lots
1088	China Shenhua Energy Co. Ltd. ("China Shenhua")	CSE	10,000	20	500	1
1359	China Cinda Asset Management Co., Ltd ("China Cinda")	CDA	50,000	50	5,000	5
1918	Sunac China Holdings Ltd. ("Sunac")	SUN	10,000	10	2,000	2
2238	Guangzhou Automobile Group Co., Ltd. ("Guangzhou Automobile")	GAC	10,000	5	4,000	2
3333	China Evergrande Group ("China Evergrande")	EVG	20,000	20	2,000	2

Batch 2 – Effective from 24 April 2018 (Tuesday)

_			Original		New	
SEHK Code	Underlying Stock Name	HKATS Code	Contract Multiplier (Shares)	Number of Board Lots	Contract Multiplier (Shares)	Number of Board Lots
1171	Yanzhou Coal Mining Co. Ltd. ("Yanzhou Coal Mining")	YZC	10,000	5	2,000	1
1816	CGN Power Co., Ltd. ("CGN Power")	CGN	50,000	50	10,000	10
1898	China Coal Energy Co. Ltd. ("China Coal Energy")	CCE	10,000	10	1,000	1



(A wholly-owned member of the Hong Kong Exchanges and Clearing Limited Group)

2899	Zijin Mining Group Co., Ltd. ("Zijin Mining")	ZJM	10,000	5	2,000	1
3888	Kingsoft Corporation Ltd. ("Kingsoft")	KSO	5,000	5	1,000	1

Accordingly, the trading arrangements for the existing futures contracts with the original contract multipliers and the new standard futures contracts with the new contract multipliers will be as follows:

Batch 1

Contract	Trading Symbol	Commodity Code	Description	Contract Multiplier (Shares)	Availability for Trading	
	CSE	2088	Newly introduced standardfutures contracts on ChinaShenhua			
Ctondord	CDA	1359	Newly introduced standard futures contracts on China Cinda	5,000	From 10	
Standard Stock Futures	SUN	1918	Newly introduced standard futures contracts on Sunac	From 10 April 2018		
T utures	GAC	2238	Newly introduced standard futures contracts on Guangzhou Automobile	4,000 onwards		
	EVG	3333	Newly introduced standard futures contracts on China Evergrande	2,000		
	CSC	4161	Existing China Shenhua futures contracts tradedunder trading symbol "CSE" before 10 April 2018			
	CDB	4162	Existing China Cinda futures contracts traded under trading symbol "CDA" before 10 April 2018	50,000		
Temporary Stock Futures	porary tock SUA 4163 Existing tradir		Existing Sunac futures contracts traded under trading symbol "SUN" before 10 April 2018	10,000	From 10 April 2018 to 28 December 2018*	
	GAA 4164	Existing Guangzhou Automobile futures contracts traded under trading symbol "GAC" before 10 April 2018	10,000			
	EVA	4135	Existing China Evergrande futures contracts traded under trading symbol "EVG" before 10 April 2018			



(A wholly-owned member of the Hong Kong Exchanges and Clearing Limited Group)

Batch 2

Contract	Trading Symbol	Commodity Code	Description	Contract Multiplier (Shares)	Availability for Trading		
	YZC	2171	Newly introduced standard futures contracts on Yanzhou Coal Mining	futures contracts on 2,000 Yanzhou Coal Mining			
	CGN	1816	Newly introduced standard futures contracts on CGN10,0Power10,0				
Standard Stock Futures	CCE	2898	Newly introduced standard futures contracts on China Coal Energy	1,000	From 24 April 2018 onwards		
	ZJM	2899	Newly introduced standard futures contracts on Zijin Mining	2,000			
	KSO	3888	Newly introduced standard futures contracts on Kingsoft	1,000			
	YZA	4165	Existing Yanzhou Coal Mining futures contracts traded under trading symbol "YZC" before 24 April 2018				
	CGA	4166	Existing CGN Power futures contracts traded under trading symbol "CGN" before 24 April 2018	50,000	From 04		
Temporary Stock Futures	CCD	4167	Existing China Coal Energy futures contracts traded under trading symbol "CCE" before 24 April 2018	10,000	From 24 April 2018 to 28 December		
	ZJA 4899	4899	Existing Zijin Mining futures contracts traded under trading symbol "ZJM" before 24 April 2018	10,000			
	KSA 4168 Existing Kingsoft futures contracts traded under trading symbol "KSO" before 24 April 2018		5,000				

* The temporary stock futures contracts without open positions will not be available for trading from Effective Day onwards.

Clients and ISVs are requested to review their systems and make adjustments and arrangements where necessary according to the above schedule to ensure that the stock futures contract information could be handled correctly by their systems.

For details, please refer to the enclosed Participant Circular.



(A wholly-owned member of the Hong Kong Exchanges and Clearing Limited Group)

Should you have any queries, please contact us at (852) 2211 6558 or send your questions to IVSupport@hkex.com.hk.

Yours sincerely,

Karen Lam Vice President Data Connectivity & Support, Market Data Markets Division

Enclosure: Participant Circular (English)